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Methods for Adjusting Actual Load for 
Impacts Due to Weather 

 Weather-response method: Applies a regression model to determine the rate of 
change in load at design conditions, from which an adjustment to actual load is 
obtained.  The peak load at design conditions may be an increase or a decrease 
from actual load. 

 Load-level method: Applies a regression model to determine the load at design 
conditions, which may be an increase or a decrease from actual load. 

 
 Methods give the same result when the actual load data intercepts the regression 

line.  
 Regression models may be based upon one or more years of data, with the goal of  

including actual data at or above design conditions in the model. 
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Example Conditions 
1. Load data from 3 years. 
2. Peak day has same temperature each year (78) 
3. Design temperature is 82 
4. Each year’s peak load is a different color (red, 

yellow or blue) 
5. Load growth assumed 0.0% each year  

 

Example for Weather Adjustment Discussion 
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Change 
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Analysis of Data 
1. Linear regression is performed, from which we 

obtain the equation for the line shown. 
2. Using the equation, we obtain the change in load 

given the change in temperature from actual (78) to 
design (82). 

Example for Weather Adjustment Discussion 

∆CTHI 

∆MW 
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Weather-Response Method 
1. From the equation evaluated at 82 F, we 

obtain a weather adjustment of 
(∆MW/∆CTHI)*(Tdesign – Tactual). 

2. Since the growth is zero, actual and design 
conditions are the same in each year, and 
the equation is the same. So the ratio 
(∆MW/∆CTHI)  is the same each year, so the 
weather adjustment is the same each year. 

3. The weather-adjusted peaks are different 
each year, because the actual load levels are 
different each year. 

4. The weather-adjusted growth varies 
randomly from year to year (but the average 
over the three years will be 0.0%). 

Example of Weather Response Method 
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Actual F                  Design F 

The weather adjustment 
is the same each year, 

while the load levels vary. 

Temperature 
Change 
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Load Level Method 
1. From the equation evaluated at 82, we obtain a 

weather-adjusted peak load of 7,000 MW. 
2. Since the growth is zero and actual and design 

conditions are the same in each year, the equation 
is the same each year.  Thus, the weather adjusted 
peak is the same in each year.  

3. For this example, the weather-adjusted growth year 
to year is the same (0%) 

4. However, the adjustment itself is different each 
year. Also, the ratio is also different each year. 
∆MW/∆CTHI  
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Actual F                  Design F 

The weather-adjusted 
peak is the same each 

year, while the magnitude 
of the weather 

adjustments will vary. 

Temperature 
Change 

Example of Load Level Method 
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The Mission of the New York Independent System Operator, in 
collaboration with its stakeholders, is to serve the public interest and 
provide benefits to consumers by: 

• Maintaining and enhancing regional reliability 

• Operating open, fair and competitive  
wholesale electricity markets 

• Planning the power system for the future 

• Providing factual information to policy makers, 
stakeholders and investors in the power 
system 

www.nyiso.com 
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